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oell Blotwsiel 5° @il slsmanis ny =155 O, drfl WA sAsHl =0 O, =il edsreil 516 [wre aq

T = o ’].\'o'\ * | . o T, | et >
Al =L gL | — \ ev2d uReuHl w1l Baad (3) oL 8. dlx A 4t 23,
0P, = o

Question:

Topic: Physics-Section B

Item No: 54

Qtfestion 100454

ID:

1Q_ue§tion Numeric Answer

ype:
" ~ o & - .o . =% . .

25 YAls AUUsR S B = (3t3 j + 32 k) - ST 2AsUHL svedl el dul X - Y dudaul

Question: | 4 ¢q i 2190 B, sl 2ol ot 1 m @, t=2 A5 2uouni Akd emf nrr V D). dln -l Bud

2.

Topic: Physics-Section B

Iltem No: 55

Qgestlon 100455

ID:

Question

Type:

Numeric Answer




15[l g2ulda wdluaul Rud RRaul sl ¥aléa [Beaeus x10-6 C sal.

E=10V
—| F—AMWWW———
r=10Q
Question: R=100
AW
C=11puF
R'=200 Q)
Topic: Physics-Section B
Item No: 56
Ql.festion 100456
ID:
_CI_)ue§tion Numeric Answer
ype:
4 cm svedl dzi-l uélond, dedld 8 mm, A G W2l 422 2id3 4 mm €14 Adl UHIdR W2 AR
20 V Al oledl A8 adsaiml 214 9. 5 ezdl s1udd(sz s 21unis Uiddl 244 1 em deud,
Question: | 4 cm YL 21 4 mm s 1S BR1AAL SUSA(525 HIELUA BelRs| A2l 422 £ sl 2414 B,
2L A e R [y Gled e, J usl.
(Where €, is the permittivity of free space)
Topic: Physics-Section B
Item No: 57
Question | 100457
Que§ti0n Numeric Answer
Type:
30 cm Gelld HRIAAL AR A €8 AUEIR 43 WAL AL d 21540 400 Hz 24 450 Hz 204 [cii d-l
Question: | nl 24 (n+ 1)Ul ¢HIAS 4L D, sd EIRIML AU 2700 N ¢l dl dstl 3vily g0 el
kg/m Y3l
Topic: Physics-Section B
Item No: 58
Qlfestion 100458
ID:
Question

Type:

Numeric Answer




3 cm [Bleel siscl A1eptl 205 200Us1R YUIZL vllad 6 cm Blerdl BRisdlL 218 HiziRuedl wrvlzi-l 2ier

Question: | 3L ©. AL AUl od 3 cm ULHL Al H1ogel izl 2183 2UiaRs gl ofled 519 r em Bl
RIS U5 ULoprllL YRML2LHL 2idRs gLl sved €M, dl r - Yo ¢l
Topic: Physics-Section B
Item No: 59
Question | 490459
Question .
Type: Numeric Answer
0.5 kg €0 414l 25 A0SR A 25{cui g2Uicul AU R £0 2ld A Bl 943 desigsml 2094 O,
Ell2AiAL 245 118 9ISl Avusie d«l WZ[Gs 2 Ul va seanl 209 3 o2l d-dl 264 4 ms-1
WO, o id? cm. ®. (g=10 ms-2 dl.)
LLLLLLL L LIS LLL
Question:
AT v T
Topic: Physics-Section B
Item No: 60
auestion 100460
Question .
Type: Numeric Answer
L5 (AL B2 2AAHIR 0L G0l HHAG (Z10UA) A YsAUHL UL B, 45° «f 516L HAAdL Zloud W
2l B L (Bl 2izar yaan coel wEnd s 208 9 % o2l d 10 m GlRugat 2l (Gzadu) w
el Gaauy (G B 2 wdizal Cllg, g ollad gloud W 12 azs U435 9. (65 A 4l (g C yl
ul™al @Rl $6 144 H(V2 +1)s O, t | yeu . &L (g=10 m/s2 dl.)
Question: B
10 m
Y,
45° 30°
A &
Topic: Chemistry-Section A




Iltem No:

61

Question ID: | 100461
Questi
T;Jpees 1on MCQ
Al UYL sz 2USIAL A2 (adsl) BR1cdl 5851 HLe Gladtl AR dedl ¥ 2Ll
(A) n=3,1=0 m=0
Question: (B) n=4: 1=0. m=0
(C) n=3,1=1 m=0
(D) n=3,1=2 m=1
A: (D) > (B) > (C) > (A)
B: (B) > (D) > () > (A)
C: (©) > (B) > (D) > (A)
D: (B) > (C) > (D) > (A)
Topic: Chemistry-Section A
Item No: 62
Question ID: 100462

Question Type:

MCQ

HYR- T 208 YR - IT A wddl

YR -1 YA - 11
(A) dh=0,—Up D By usuen
Suestion: (B) p=Qxr ()  citsizs 2A10ud s&1s
(C) % () clefQsizs 2ulCa sis
(D) Wyp=Ua+¥p (IV) clasiis
Al 2 AL [Aseuimigl ARl sralol uE S3.
A (A) - (I, B) - (@), (©) - 1V), (D) - ()
B: (A) - (), (B) - (IV), (©) - 1), (D) - ()
C: (A) - (), (B) - (I), (©) - (IV), (D) - (IT)




D: (A) - (), (B) - (IV), (©) - (W), (D) - (@)
Topic: Chemistry-Section A
Item No: 63
Question | 190463
Questi
¢ ;pees: ion | vica
Question: [qefon oif NH,OH [B3¢4 Mot 248 HCL AL pH-[d3 (metric) 2o L 20 Sl goit
uestion: 39
pH
|
A:
0 DIERGE
pH
B:
0 ARus s¢
pH
M
C:
0 AR se
pH
D: T 7F
0 dRis s
Topic: Chemistry-Section A

Item No:

64




Question ID:

100464

Question Type: | MCQ

12 of (el 20uaL 9.
[Qad I:  KIHR, 4ed A HIER dlesalHl dauzl Al M 9.

Question:
[Qenst 11 : siotils 2R e, e 18 HIER AlesaMl ARl el 214 9.
Guz-l [Aani-l Ageinl, A= 2L [Eseuruisl 1R svaier udE s3L.
A ofel (At T 24 (St TT 2R 9.
B: oirl (e T 24 [Aei 1T el 9.
c: (e T 202 © ueL [Qsu- 1T wE 9.
D: (e T i © e [Qaud T w9,
Topic: Chemistry-Section A
Item No: 65
Question
D 100465
Question
Type: MCQ
A2 o [Qall 2ANAL 9. 25 58 (A) 93 dotd 53 S 21 ofladed SRYL(R) 98 oA 539 ©,
s (A) : 2N (gled) vgdl slAquy graemisl g s3el Wiz MRz Yol Wiz HAUGL 3914l
29 O,
Question: . . " e . . " 3
$1RQL (R) @ UL QAL 01 Rz Wil wiz 48 Asdl 42l vel sfaasy seil viziiee yasisl
YR U9 U5 O,
Gyt (el Aseil 12 2l [Ssediidl Aiell 48, dluciudl sreiol e $31.
A ¢irl (A) 24 (R) A1 9 2 (R) 21 (A) wl 200l qssyel 204 9.
B: ¢irl (A) 21l (R) 0L D 24 (R) 2L (A) AL 2124l qxsyell 244 ©.
c: (A) 1, 4eL (R) 213, -l
D: (A) 112 2l veL (R) AU 9.
Topic: Chemistry-Section A

Item No:

66




Question ID:

100466

Question Type:

MCQ

A, B, C, D AR dcdidl Al cteizeAl daszid dza-iil Al 204 9.

(A) 3s2
2n..1

Question: (B) 3s 3]3

(C) 3s%p3

(D) 3s23p?

1L il WIe HUM Al 0L 1AL AL 53 2ULEL
A (A) < (B) <(Q) < (D)
B: (B) < (A) < (D) < (C)
C: (B) < (D) < (A) < ()
D: (B) < (A) < (C) < (D)
Topic: Chemistry-Section A
Item No: 67
Questi
Dot 1100467
Questi
T;.Ipees: on MCQ

_ UHE T Al 2 et A 2L UHE 2 el 28 dedt B Al syell duledl 8209 O, od UH¢ 1 WL A 2| HédY
Question: N
svell4520L el s €l ol B A :

A: Mg
B: Be
C: Clg
D: Sr
Topic: Chemistry-Section A
Iltem No: 68
Question ID: | 100468
Question MCQ

Type:




A2 o [Sedl 2AUAL 9. s 5% (A) 4 dAHd 53 O i ofladed SRYL (R) 4d Ao 539 9,

5Ut (A) @ cllziA 2 BEST otritell sl -l.

Question:
$IR8L (R) : B e 58 vot o I ©.
Guaeti [Senll Ageil {12 2l [Aseuinisl Hidl gy, it oiudl sydlol g 531
A ¢irl (A) 2l (R) ALY 2 (R) 2L (A) AL 2=l uusycl 200 .
B: ¢irl (A) 24 (R) 1AL 9 24 (R) 21 (A) wl 2012l 2q3sycll 20ud, ©.
c: (A) 412, vel (R) ¥ig 9.
D: (A) “iZ ¥8L (R) W3, ©.
Topic: Chemistry-Section A
Item No: 69
Question ID: | 100469
Question
Type: MCQ
Question: | cl2¥é AUAL UESASA GIARML, MnOy 2L Uldldcsed 2UsU8eU 53 O d
A: 5508
B: S,08~
C: SO3%™
D: SO7~
Topic: Chemistry-Section A
Item No: 70
Question ID: | 100470
Question
Type: MCQ
Question: | el 2iledl l2dl AUsUIUA 22 AL AR U S s [Qouesl
A AL -rellsid (RellsiRaudAl) usla vddl ¢l




B: AL o-Elcll ugld a1l €.

C: UIZ| r-ELcl &Ml Y1l 1A,
D: [0 o-ldl Bl YR1edl SIA.
Topic: Chemistry-Section A

Item No: 71

%fes“on 100471

Question
Type: MCQ

A2l o [Qan-lL 20t 9.

CQaud 1:  2eld Gelol winil svezt(deie-ly s 2421 (fly ash) 2 2601 AL Guaial Riee Galiol o8
Question: SRl 209 .

(e 10 : vaulzes 2wl woil 2uad vndel ds ysd 9.
G-l [AtuiqL ee{ul l2 2L [Esedimial ulsl ag dacudl svaied Wi s3U.

A ol (et T 24 [Een IT 110 ©.
B: ol [Aent T 24 [Gen I vie 9.
c: Qe T 2412 © el [Gen I wig O,
D: CEIEY SEASRTRCEIER | ETOR)
Topic: Chemistry-Section A

Iltem No: 72

Question ID: 100472

Question Type: | MCQ

A2 2 WEAHLA A olEReL Yy © 7
O

Question:

NaOH

» A

R major product
/\ . jor p




OH

R— C —CH,
H3C Br
(l)H
B: R—?—Gg
CH,CH,
O
) )‘\/\
R
O
’ )J\/\/ &
R
Topic: Chemistry-Section A
Item No: 73
Question ID: 100473
Question Type: | MCQ

A2 2ud Ul Aellal Yy Hlusy B’ 2Ul8lL

- Br, HI
Question: CHS T el R CHB B el SR g B
| CH,OH (major product)
CH,
HO Br
| |
A CH,—C — CH-CH,

|
CH,




| Br

B CH;— (|3 — (llH —CH,
i,
Br OH

C CH,-C - (|:H —CH,
i,
Br I

D: CH3—(|: = CH=CHy
CH;

Topic: Chemistry-Section A

ltem No: 74

Question ID: 100474

Question Type: | MCQ

Question:




YR - T8 YR - 11 A sl

YR - T
Cocl CHO
(A) @ B @ m

e o 18 (II1)
H,0 HO*

}3*1.1(213 (anhyd)

12 2 idL [Eseqinial M1z sydlor g $30.

YA - 11

ANeHA-512 UL

de1é ulaL

R2s ulsa

AU UL

A: (A) - (IV), (B) - (I1I), (C) - (1), (D) - ()
B: (A) - (@), (B) - (II), (©) - (I10), (D) - (IV)
C: (A) - (D, (B) - (I, (C) - (IV), (D) - ()
D: (A) - (), (B) - (II), (C) - (I), (D) - (IV)
Topic: Chemistry-Section A

Item No: 75

Question ID: 100475

Question Type: | MCQ




YR -1
aeds (dldlir)

YR - T 28 YR - I A sl

YR - 11
Asds (UiAIUR)

| (A) [l 1) 2UGdiudzda
Question:
(B) esdi- () sadiziild
(C)  Al5aA (II)  ezlsdIIS el
(D) g&xdl 2043 (IV) 2uduild
A2 2L [Aseuimiall AL sralol YiE s
A: (A) - @D, (B) - (1D, (C) - (0), (D) - (IV)
B: (A) - 4D, (B) - (), (©) - (1)), (D) - (IV)
C: (A) - 1D, (B) - (@), (©) - (1V), (D) - (1)
D: (A) - (@), (B) - (II), (C) - (D), (D) - (IV)
Topic: Chemistry-Section A
Item No: 76
Question | 490476
Questi
T;Ipees on MCQ
215 5104(4s ddlsr A ‘A7 2 ASZlored 2 SAURA G 8. o WML dRet gled UG o Il vi-td © d
(Ge3un dld Al ©. Hdlorel ‘A7 «f UM UHUBLA Ao A8 sl o7 EAA B 5 A7 o 28 £
Question: | 131 £2 6. sk ‘A’ AL A¥riirl svelld NaOH 2018 sl s3dl N aiad dettél 2ailszer i 9. val

d Cl artetd Al Wil 24edl Hendl-l Adg 2R 18 24 e Bild 08wl s3di d sl
USEY Y 9, 2dley ‘A’ 2L

+
NH,Cl~




NH,
& |
B:
+ —
CH, NH,Cl
C:
+
NH,Cl~
D:
Topic: Chemistry-Section A
Item No: 77

Question ID: 100477

Question Type: | MCQ




YR - T8 YR - 1T A wddl
YR -1 YR - 1

(A) g5l + HI D) ogsllAs 2k

Question: (B) °4sl» + Br, water () ogsls Urzi2Aee
(C) 295l + 24228 2AACITLISS (D) asslzs 2R
(D) 94sl» + HNO, (IV) &sael
A2 20AL [Aseuiizl ARl srdler YRE s3l.

A: (A) - @IV), (B) - (), (C) - (TD), (D) - (IIT)

B (A) - (IV), (B) - (1), (C) - (IT), (D) - (T)

c: (A) - (), (B) - (I), (©) - (IV), (D) - (IT)

D: (A) - (1), (B) - (T, (C) - (IV), (D) - (IT)

Topic: Chemistry-Section A

Item No: 78

Question ID: 100478

Question Type: | MCQ

Question: 1oL Sletdl opeLad qairel Hie 12 aisl 49 7

A: MUY [Reize

B: HUledn s104i-42

c: HULeyH e

D: ARENROETEALY:)

Topic: Chemistry-Section A

Item No: 79

Question ID: 100479

Question
Type: MCQ




YR T8 YR - T A sl

YR -1 YA - 11
(Mixture) (Purification Process)
o (A)  sdRISHL 2 2]l ) i [Azied
uestion:
(B) Ciratlds i[4S 2 Al () Gedula
(C) el 2 2A[AdlA () [AzigA
(D) el A AUL3AU 4188 (IV) szlsrul
A2 puaL [Eseuinizl 1121 svared YRiE s3L.
. (A) - (IV), (B) - (1D, (O) - (1), (D) - (1)
B: (A) - (), (B) - (1), (O) - (IV), (D) - (IT)
c: (A) - (1), (B) - (IV), (C) - (1), (D) - (I)
D: (A) - (1), (B) - (IV), (C) - (1), (D) - (1)
Topic: Chemistry-Section A
Item No: 80
Question | 100480
Questi
T;Jpees on MCQ
Question: Y2 R 3RUEAISS glaBlAl Gl Fed* arl 2 ($20e) 21 YR1uA og 28y 20 © o
| Rl A sRELS d
A: [Fe(H,0),], [Fe(CN),]
B: Fe,[Fe(CN).],
C: Fe,[Fe(OH), (CN),],
D: Fe,[Fe(CN),],
Topic: Chemistry-Section B
Item No: 81
Question 100481

ID:




Question

Numeric Answer

Type:
Quest 100 mL 0.1 M H,SO, 38 50 mL 0.1 M NaOH -l 28l (421 s3dl Hadl sieui H,S0, <l
uestion: - .
UUHIBLeAL X10~1 N, (A5l yeuis)
Topic: Chemistry-Section B
Item No: 82
QL{estion 100482
ID:
?ues.tion Numeric Answer
ype:
25°C cliuMi-d 24+ GlL €121 (99 bar) U2 218 clikc[ds iy (real gas) W2 otrild 2 2 9. asll
Question: | AR Al AUNLS ‘D’ | Y 2] ULl 7 (sl yulls)
(244 : R=0.083 L bar K~ !mol 1)
Topic: Chemistry-Section B
Item No: 83
Qgestion 100483
ID:
Question .
Type: Numeric Answer
20240 5€ Salll{lezul 2As ary (Hlar €0 =280 g mol 1) A 948 O, Ul UOPUAAML 2A1e] 24 Eeed
Quest g1l SelElal2re drumiq 298.0 K @l 298.45 K 98l ©. s scldlalea-l Gwaiigindl 2.5 kK1 244
uestion. = oy = = s e S, TP, ¥ by
eyt £t 221l 9 KT mol —1 €1 oll sl g e Al srel UL Elell gL (sl
yells)
Topic: Chemistry-Section B
Item No: 84
Qauestion | 100484
Question .
Type: Numeric Answer
25°C R el A «AL [t svzaun () +100 g wiellal Aousild e glagl sriissinl 2U9 8, gLy
Question: | gL 2 Y6 WIG(L s3cll 2488 (one-half) @2 ©. Ea Wielld svugesL 23.76 mmHg 9. dl
GHAL gled A AL WAL vl 8. (sl yulls)
Topic: Chemistry-Section B

Item No:

85




Question
ID:

100485

Question .

Type: Numeric Answer
[A] — [B]
JERE Alusy

Question: | e 2xdlsyel [B] o ¢irid] 24 MeHsH o[l 2iqud €14 dll, 24 70 mins Yol [A] Al Aigell d-l wz(es
Aigetl s3ctl 2AE Huil 20d 9. UBHLAL QLA 2L x 10705718, dlx o Y A5l yollsui

O, (sl yelsul)

Topic: Chemistry-Section B

Item No: 86

QLfestion 100486

ID:

?ues.tion Numeric Answer

ype:

A2 2aL US| e Al o 80HL 2 9.

Question: | ojisaude, RRaide, spude, 3audn, [RHade, Baidlude, Adside, Wlee, widide, [@Qu-de,
slalALE2

Topic: Chemistry-Section B

Item No: 87

Qgestion 100487

ID:

Question .

Type: Numeric Answer

Question: oA(255 HiE AL, Yi2R1dM uzHoldz 24 ¢1dglort URisAlss o2l ulsiell win 2l dluseni Woletlal

| 2l UL 8.

Topic: Chemistry-Section B

Iltem No: 88

Qgestion 100488

ID:

Que§tion Numeric Answer

Type:
“Al2 Al (G- Huadl ezl a1l ARY(2AL) AL AR (L)AL vl 9.

Question:

NOj , H,0,, BE,, PCL,, XeF,, SF,, XeO,, PH} , SO,, [A(OH),]~

Topic:

Chemistry-Section B




ltem No: 89
Question
D- 100489
_?ues.tion Numeric Answer
ype:
Question: | 5e[@d1 MEusUL Lo 2[5l 2l s5ct 2etsly AU BM 8. (A5l yellsui)
Topic: Chemistry-Section B
Iltem No: 90
Question
D- 100490
Question .
Type: Numeric Answer
CI-IS CHO
) e
Question:
5¢g (92%)

Gurl WEul 5 g 2leyBeie 92% B Glr3ledletds Alueyui uRadq A ©. Geurt ydq
et esleldsnl syeal Xx1072g 9. (105l YelisHi)




